19A

1)

2)

3)

350 mi.
D4 Do
D1 + D2=350
R1Tq{ + RoTo =350 Ri=50
(50)(T) + (90)(T) = 350 <{ R2=90
T1=To

T =2.5hours
8:30 AM + 2:30 = 11:00 AM

39 mi.

Dt Dw
D1+ Dw=39
Rr=12
R1TT + RwTw =39 Rw=5
(12)(5-Tw) + (6)(Tw) =39 <| TT+Tw=5
Tr=5-Tw

60 -12 Tw + 5Tw =39
60-39=7Tw Tw=3hrs. waking

5-3 =2 hrs. trotting

1 mi.

Dfr Ds
DF+Ds =1

RFTF+RSTS=1 RF=10
(10)(T) + (B)(T) = 1 { Rg=5

Tr=Ts
15T=1

T=1/15hr. =4 min.

4)

19 mi.
Dm DL
Dm+ DL =19
RmTm + RLTL =19 Ry = 3
(3)(Tw) + (8)(Tm - 1) =19 4{ AL=5
TL=Tm-1
3Tm+5Tm-5=19
8Tym-5=19
Tm=38hrs. 2:30 + 3:00 = 5:30 PM
360 mi.
D4 Do
D4 + Do = 360
R1 =40
R1T1 + RoT2 = 360 Ro = 65
(40)(7 - T2) + (65)(T2) =360« T1+T2=7
T1=7-Ts

280 - 40T + 65T2 = 360
25T> =80 Tp=23.2hrs. at 65 mph

7 - 3.2 =3.8 hrs. at 40 mph

20 mi. 4)
' Ds De
Ds +Dg=20

RsTs + RETE =20 Rg=2

(2)(Ts) + (13)(Ts + 1) = 20 {RF 12
Ts=TE

2Tg + 13Tg + 13 =20

15Tg =7

Tg = 7/15 hours, or 28 minutes

1,320 steps

}4____.__*‘ 5)
DR Ds

Dgr + Dg = 1,320

RRTR + RgTs = 1,320

Rr =30

(30)(T) + (25)(T) = 1,320 «{ Rs =25
Tr=Ts

55T = 1,320

T =24 min.

500 mi.
D Do
Dy + Dp = 500

R1Ty + RoT2 = 500

R; = 130
(130)(3T2) + (110)(T2) = 500 4{ Rz =110

T1=3T2
500T5 = 500

To=1hr T1=3x1=38hrs.

3050 mi. (
W
Dy + DL = 3050
RmTw + RLTL = 3050
(400)(TL_ + 2) + (500)(TL) = 3050
400 T|_ + 800 + 500 T|_ = 3050
900 T| = 2250

TL=21/2 days

600 mi.
Dm D !

“

[

v

Dm + DL = 600

RmTm + RLTL = 600
(65)(Tm) + (70)(Tm - 3) = 600
65Tm + 70T - 210 = 600
135Ty =810 Tm=6hrs.

9:00 AM + 6:00 = 3:00 PM
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19C 19D
J 100 ] : : :
1) Jumps =RT =T=— = —7— =2 1/2min. ] P20 o T, TG 1) Words = RT = 30 wpm x 7 min. = 210 words 13) 790m fw. _1km  1km
7 7 7 1 1 1000 . " 10007 %
1" 1ft 1t W 385
> — = 3 = E— —— = = R -4 km2
2) J=RT =R= %= 1.:239 oA i e o 21/2 ft. 2) W=RT =R= T T 35 wpm .00079 km2 = 7.9 x 104 km
d . i W 820 w A 14) 4kqq, 1000 1.1yd, 3t
3) J=RT = 60 ——x 2 — min. = 135 Jumps 3) W=RT == R="_=_222" _20.5min.or X X X
ain. 4 i 1) 2% 100em _ sgoem ) T ~ 40 wpm 20 min. and 30 sec. 1 T e T yel
4.-5) ! b = 13,200 ft. or
.5 —> .
By =Dm 2H0bm . 9N osin. Bah) il e Ak, 62ML 5280 ft
1 T ) T % TR 1
RHTH = RMTM RH=20 Ds =Dk =
(20)(1/10) = Rw (1/6) =«| Tiy=1/10 hr. RgTs = RkTk Rg =6 mph =13,094.4 ft. (differgnce due to
2416 hy Tw=1/6 hr. 15) 80T, 951 | 6)41/2)=Rk(4) < Te=41/2hr. rounding)
12 =Ry ikaior - 27 = 4Rk Ti=4hr.
Rate of man (Rm) = 12 mph 6 3/4 = Rk 200, 2.5cm
15) ——=x ———=50cm
D = RT = (12)(1/6) or (20)(1/10) D = RT = (6)(4 1/2) or (6 3/4)(4) T N
D =2 miles 16) Mg 24 _ 24 D =27 miles
6-8) 4,000 yds. Ll . 6 =8 W __¢&
“Bx o 08 A0, 100 Se il Bl s S B 5 T 11
M T 40 x D Dp
Da + D= 4,000 En " £ Dc + D -(;00 : ==
RATA + ReTE = 4,000 " Ra= 240 RC‘: DF; A Ro= 60 T 11
(240)(TE + 2) + (200)(TE) = 4,000 <-| Rg = 200 M (6‘(3) °T+ D(SZ‘T 1) = 200<d Rz 6052 55
+ = = -5=
240 Tg + 480+ 200 TE=4,000 | 1,_T¢ 42 7 el e 16 eo)T( C)55T X g;_:oo ° 7 B 5
440Tg = 3,520 T ok 80 Tork 58= To=Tc +1 b i
Te=8 790 .16 115Tg = 345
M 70 =288¢g Tc=3 Total given, looking for black
TaA=TE+2=8+2=10 To=Te + 1
_ _ D=1ICc+
D= (240)010) =.2400 Tp=3+1=4 metat11:00 AM B 5 B
DE = (200)(8) = 1600 ) B S
M 24 T 11 253
g W — = 1,031 mi.
9-11) | ( > 9-11) —p—be—p—] B=253X5 = 115black
Dp De M= T20:2 o s & walle 11
Dp + Dg= 600 Re=27fps =0 gs: DCI: 1T'0311 031 Rg=52
Rp(11) + (27)(10) = 600« Tg =10 sec. sis+hclc=1 ‘ . o
52(Tg + 2) + 51Tg = 1,031 Rc= 51 1 3i (8-5) _ 24i-152 _
11 Rp+ 270= 800 (Feilt it e 52 Tg +104 + 51T¢ = 1,031 ¥ EiE @5 w4 252
11Rp =330 19) (X132 x1/6 c c=1 To=Te+2
Rp =30 1T°3Tg=927 24i +15 _ 24i + 15
Dp = (30)(11) = 330 7‘33; T 64 + 25 89
3 + 9. = 4.
De = (27)(10) = 270 20) 30 42 7 -5a2 1 =
. 3i42 -5.9i2 = 3 2101 1102 3_
12) 100W tyd oo 3.3i¥2 -5-2iV2 12) 8,2100mm . 1030m e B 20) x3+3x 120 +3X1102 + 10
1 36, ¥ 9iv2 1012 =-iV2 mQ X3 + 30X2 + 300X + 1000
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19E
1) Pushups =RT =>R=-f.-=-—5—
T 1
2) P=RT =R=_F___20 _
T 1/3
8 PRl ST = 58
R 70 p/m
15
Jw=JH
RwTw = RHTH

= 100 per min.

60 per min.

= 1/2 min. or 30 sec.

Tw=23/4 hrs.

(Ru+ 15)(11/4) = Ry (4)<—— TH=4hr.

[11/4 Ry + 165/4 = 4R x 4
11 Ry + 165 = 16 Ry
165 = 5Ry

33=Ry

Rw =33+ 15 = 48

D = (48)(11/4) = 132 mi.

1600 mi.
6-8) ‘__>—>‘D1 Do
D1 + D2= 1600

R1Tq + RaT2 = 1600

Tw=Rn+ 15

R1=40

40T1+ 60(T1 +3) =1600 <«-| R2=40+20=60

40T4 + 60T¢ + 180 = 1600

T2=T1+3
100T1 = 1420
T1=14.2hrs.
To=142+3=17.2hrs.
20 mi.
9-11) '—_JW > JRI
Jw +Jr=20
Rwlw + RpTr=20 [ Rw=4
(#)@) + (6)(TR) =20 < Tw=3
12+6TR=20 RR=4+2=6
6TR=8
Tr=11/3
12 2ps, St .
T X Tyes 27 ft.

13)

5w, 1. d00em  1006m
1 X 1 S 1Tme ™

= 350,000 cm2 = 3.5 x 105 cm?2

14y 300%. 0850z _ oo
1 16
16" 1.6 km
15 — —_—
) =% = 25.6 km
16 N ___ 14
NH3 17
Hs 3 H3 3
NHs ~ 17 N 14
17) _MN__ 14
646 17
646 x 14
My=z—e—— " =532
N 17 g
My 3
18 =——
) 646 17
646 x 3
My = =
77 114 g
19) 5terms

X4+4X3(-3)1+6X2(-3)2+4X1(-3)3+(-3)4

20)

\

X4 -12X3 + 54X2 - 108X + 81

5x4
1x2

(2X)3(52) =

120— (8X3)(25) = 2,000X3

20A

ey

)

4)

10)

11)

12)

positive

over 1

b=~-2

up 2
over 1

negative

2Y=-3X+9 = Y=-32X+9/2

5X-Y=-1

12Y=2X+3 = Y=-4X+6

M=E —— s e— = n —
B)-(3) 8 8
_@2-(6 _ 8 _
™M a2
m= __——(.2)-(4) = -6 =3

M- 2

13) (-5)=2(-2)+b
S5=-4+b = b=-1
Y = 2X - 1 slope-intercept

2X - Y =1 equation of a line
T

-

5
(2)=-6/5(-2) +b
2=12/5+b = b=-2/5

Y =-6/5 X -2/5 slope-inter.
5[6/5 X + Y = -2/5)

6X + 5Y =-2 line
L4

A

\t

5=-5+b = b=10
Y = -X + 10 slope-intercept

X +Y =10 equation gf a line
\
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